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Qi. Triangle ABC has a right angle at B.
Angle BAC = 38°

AB=7.21cm

Not drawn accurately

2C

X 38° 1 % 6 ¥
7.21 em Loan 38 =
l
Calculate the length of BC. 1.2
6
Give your answer to an appropriate degree of accuracy. —] 2.1 &q [ 3 Y -~ ~

(Total 4 marks)
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Q2. The diagram shows a right-angled triangle.

» T Not drawn accuratelly
25cm

b Bcm >
Calculate the length x. P"S (:"\Aj oraf 2.0 c e ek

(Total 3 marks)

Q3. The diagram shows two right-angled triangles.
AD=40cm
Ch=7 c5m
cosx= g
A
40cm Not drawn accurately
X
sl D
¥
7cm
C

Fnrst hJOf‘k ;.-, Aﬂﬁb é:'b ‘Fw\y{ BD
Tke..\ vse P\ltkagsor«( ™ A Bcd te nd BC

- Bc
T hen Slnn - —

gD
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ANSWer ... sl N g -
z5" (Total 6 marks)

Q4. This right-angled triangle has sides of lengths (x — 2) cm, (x + 5) cm and 10 cm.

Not drawn accurately

10cm
(x+5)cm
-
(x—2)cm
< . =
Pnﬁsﬁan; ( ~2) + Cx-i——S') = 10

2w —~4x +4 4+ o +10%x +25 = 100
Foe +bx +29 100 = O

Z;al +6x —=71l =0

—bL £ [y —4ac

o ‘=
2a
¢ = —(* [Rerdxal
4.
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Calculate the value of x. '
Give your answer to an appropriate degree of accuracy.

..................................................................................................................................

Answer 4"65‘ ........... cm

(Total 5 marks)

Q5. (a) Ali uses this method to estimate the height of a flag pole.

. He stands, as shown, so that his angle of sight is 45° when he looks up to the top
of the flag pole.

. He then measures his distance from the flagpole.

. Finally he measures the distance that his eyes are above the ground.
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This sketch shows Ali's measurements.

Not drawn accurately

<. Y.
%
R
B0
.
i " “-%é{
Flagpole
—1\[/ ﬂ5 )
Nty SR 3
Pags 145m ]
i . I’
le |
l B.7m |

Use Ali's measurements to calculate the height of the flag pole, explaining why he uses an
angle of 45°.
..................... .1+ 1.45 = 10,18 m ...

)
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(b) Ben uses this method to estimate the height of a building.
. He tapes a 1 metre ruler to the building.
. He takes a photograph of the building and the metre ruler.

On the graph he measures the height of the building and the length of the ruler.
The measurements are shown on this sketch.

Not drawn accurately

98cm

_[;.Ucm

Use this information to estimate the height of the building.
Give your answer to the nearest metre.

Answer ............. 4 "i .......... metres
(3)
(Total 5 marks)

= I m & Nneasegl
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Q6.

Three circles fit inside a rectangle as shown.

Two of the circles are identical and the third is larger.
The circles have radii 9 cm, 9 cm and 25 cm.

Not drawn accurately

Calculate the length, /, of the rectangle.

€. =~ 25 + B +9

A¢1+@¢1:’l‘\'€l
............................................... 2

1LY L85 = 34

Be = '347‘——/6"L

R¢ = Jao = 30 em

(Total 6 marks)
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